rights reserved for patent,

Transfer or duplication of this document as

utility model

FOR-1755 Rev.1.6 | 2 3 4 5 6
| AE 20 General tolerances (mm) M
0 [ >3] >6[>10]>18]>30]>50 [ >80 [>120]>180]>250] >315[>400
T T S T T T T T TS T T  ss00] 0110
3 1 6 110 [ 18 | 30 | 50 | 80 | 120 | 180 | 250 | 315 | 400 | 500 =
== £0.12[£0.18]£0.22[£0.26]£0.31]£0.37]£0.57]£0.80] £0.93] £1.05] £ 1.15[ £ 1.60[ £2.20[ £2.50] *2°
L A ) N
e — ==
e
& pEasow :22::2§: : 3
7o) — Eg:N c—c—0 0O
~| w 7300 H]D
5 1 == 4 i
(Jgo° oo©
O =20 S | | S | o ] o | = )
L_JLJL_J[_J[_JU7 DDDCJCJ
MOMIM T i—xlnlimimink 2
35.4
107
BS6 N-YY 6 Nut Steel M6/Zn Plated
LYY(Color): GY(Grey). RD(Red). BU(Blue) 5 Bolt Steel M6/7n Plated
0G(Orange). FE(Yellow and Black) 4 Lock Washer Steel M6/Zn Plated
T 7 : 7 - 7/ 3 Current carrier Copper Sn Plated
H#f % %7 % E/Panel installation diagram \ ) Mounting Bar PAGE UL94V—0
": | 1 Housing PAG66 UL94V-0
r==-T T A= T A= T ‘ ‘é///_ ITEM NAME OF PART MATERIAL NOTES
ECS=r AR 1) 1o 50%}5,,“ UL f5 /UL Standard: B C D

s =S | = \ W) Fep Wi Fi LI v IRated Voliage(vyCurentia) 60015 |/ 7

© I \ W TEC F7/fENEC Standard:

S I I I it & 2 5)/Overvoltage Category/ys #4525 /Pollution Degree /3 /2 112
| I I I \ 71 HU R/ e gii/Rated Voltage(V)/Current(A) 1000/125 / /
I A5 Jik o L (KV)/Rate Impulse Voltage(KV) 8 / /

| | | ©o| ~ ‘ §2 271 40/Torque Tightening(N- m/Lb.in) M6, 3-6/33.967.4
I — 8 ‘ [#] 52 WEAT # k% [Fixing Screw Specifications M6
I I I (53} 2847910 [ (i 2% 15 28 J)Wire Range(rigid and flex ible)(AWG/mm?) 16-2/2.5~35
| \ [ B /PTichEm) 23 i 5 Fl/Poles 27IN=01P
I I I 3K & K Ji /Stipping length(mm) Depends on Cold pressing
I ‘ A FFJ 3, B 3 [ /Operating temperature(° C) 40~+105
| | | I | 7% £ ROFS B [ 22 s /Conform to RoHS Yes
-1~ I - I -~ ﬁ MATERTAL: SURFACE/COLOR:
| (=) 1€ - - \ DEGSON | . x. / AT STATUS: 8
L - -+ - -+ - L - B \ APPD: |Li GL 2023.03. 14 | NAME
‘ CHRD: Ve K [2023.03. 14 BS6 N-YY
00 NEW DRAVING Theng @ 20230314 | DRFT: |Zheng Q6 [2023.03.14 | DRAFING NO. TYPE DRAWING STATUS |  SCALE SHEET
REV B DESCRIPTION DRFT DATE & ed u =] 200098793 CUSTOMER DRAWING EAH 2:1 1/1
1 2 | 3 4 5 | 6




